Multi Tasking Non Technical Staff and Havaldar CBIC and CBN Examination
2022

[Roll Number 4602011011

Candidate | ;5qEF KENDRUKA
Name

Venue Name |iON Digital Zone iDZ Golanthra
Exam Date 13/06/2023
Exam Time 9:00 AM - 10:30 AM

HMTS Non Tech Havaldar CBIC and CBN Examination
2022

Subject

Section : Numerical and Mathematical Ability

Q.1 92 G8a qRus 2962 2 940 99! Rs. 33800 19° 3 990 99R9l Rs. 43,940 62192l 090 12Ig 9998
Faen (F18 wee 9598 c2egel) 1o Aea Geed @RIAIRa | 98 GfIe Geen 1 ARUee ga e abifldg 2 @
dlisl G6ed @AM, 6367 2 9F 6aE6R Piae ARG IBFIN 66T 6997

Ans 1. Rs. 67,600
X 2 Rs. 62,480
X3 Rs. 71,240
X 4 Rs. 60,420

Question Type : MCQ
Question ID : 264330140574
Option 11D : 264330550650
Option 2 ID : 264330550648
Option 3 1D : 264330550649
Option 4 1D : 264330550647

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.2 g5 gew Ay Rl Gig 135 kg fgag A g, 72 kg gug B 9@6 G86 euieml | 0F Ferg A 62 & 19° 6gIa
Agele 4: 5 16° figllig B 60 @ 19° 990 2gIs 7: 5 62IR2IN, 656% §oR fdkligen Faa 8a7 6w6a7

Ans X 1. 115 kg
X2 85 kg
X 3. 92 kg
v 4 102 kg

Question Type : MCQ
Question ID : 264330140640
Option 11D : 264330550909
Option 2 ID : 264330550908
Option 3 1D : 264330550907
Option 4 1D : 264330550910
Status : Marked For Review
Chosen Option : 4




Q3 Gh-oe wou 398 600 §9or 2@ 5 98 @6n G191 99 2 9° 3 10l FAIFE ceIalg?

Ans X 1. 105
<2 102
<3108
« 4 103
Question Type : MCQ
Question ID : 264330140598
Option 1 1D : 264330550744
Option 2 ID : 264330550746
Option 3 1D : 264330550745
Option 4 1D : 264330550743
Status : Answered
Chosen Option : 4
Q4 GeogdRs 50 FRYQ 1080 696 2I90I9es AIE faipsm, Rew 98 Rs 35 gmia fge 9ge cae? (1@ claidsn
FUE)
Ans X1. ?: 5
X2 35
3 37
x4 27
Question Type : MCQ
Question ID : 264330133839
Option 11D : 264330524380
Option 2 ID : 264330524379
Option 3 1D : 264330524381
Option 4 1D : 264330524382
Status : Marked For Review
Chosen Option: 3
Q5 12x4=-30f16+24—5
! Q FJRY 69667
46 - 23 %2
Ans &1 5
X2 4
X3 3
<46
Question Type : MCQ
Question ID : 264330139947
Option 11D : 264330548170
Option 2 ID : 264330548167
Option 3 1D : 264330548168
Option 4 1D : 264330548169
Status : Answered
Chosen Option : 3




Q.6 God caIIE! 60 9EE6 BF 99 9w 98 §8 @08 | 98 69 1€ @@ Rs 150 Symen &4 @ti2les | ¢I'easm 69 30 959e

A8 dg2163 | 20 9B9I0 AN U9 A9, 950 Fg€ R @6 6291 9Rg?

Ans X 1. Rs. 550
X2 Rs. 700
+ 3 Rs. 600
X 4 Rs. 650
Question Type : MCQ
Question ID : 264330140638
Option 11D : 264330550902
Option 2 ID : 264330550901
Option 3 1D : 264330550900
Option 4 1D : 264330550899
Status : Answered
Chosen Option: 3
.7
@7 \[052x052+0.31 x 031 + 062 x 0.52 Q 7Y 6REE?
Ans X 1.0.73
<2093
x<3 063
v 4 0.83
Question Type : MCQ
Question ID : 264330140550
Option 1 ID : 264330550555
Option 2 ID : 264330550556
Option 3 1D : 264330550558
Option 4 1D : 264330550557
Status - Not Attempted and

Chosen Option :

Marked For Review

Q.8 calEq amsia g8 gmy Rs. 5000 2168 | 62iRin] gleag 15 959e 99° b 986ea qeliss 9ot 291@ goie @a8 | oF

Ans

Glee @Re <ligl Rs. 4080 9R0 69, 6068 b @ €lmY 6@6a?

X1 3g6eo
X2 75 gese
X3 5 gpde
@ 44 95EIe

Question Type :
Question ID :
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status :
Chosen Option :

McCQ
264330140251

1264330549383
1264330549386
1264330549385
1264330549384

Answered
3




Q.9 Goee TaaIRge QR-9IFER JEF SEMIRaen daee e edidied | VF 9018 QIEE F9RQURLa SAIT Jae 2oEH
720 266 1 9% Gaq F9FoUResn Jaew eug 20 A1EE FAEIRa 6a16 daee el 2966 Bl 96d ediuing

A
40°/ B
30°

J1=B6C Qeagd das <ol |
J2=ACE Q21D Jge d°5 |

(32 + J1) @ R4 69667
Ans X 1. 250

X2 210

X 3. 240

o 4 200

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ

264330139930
264330548099
264330548102
264330548101
264330548100

Not Attempted and
Marked For Review

Q.10 Gsa qoee &7 e ¢S 2IPInsa 28 AIRIR ISR CIF 7.58 IS 19° 6.42 QIS 19° ISR I FI6a GO
6.50 4% | 660 @@ @39 SIS od Ig 81 Ay Rs. 2000 266 | 991y wfig 27 @49l did 6a6e 9fFI4 O @891y

age?

Ans 1. Rs. 91000
X 2. Rs 72000
X 3. Rs. 85000
X4 Rs. 102000

Question Type :
Question ID :
Option 11D :
Option 21D :
Option31D:
Option 41D :

Status:

Chosen Option :

McQ

264330140227
264330549289
264330549288
264330549290
264330549287

Not Attempted and
Marked For Review




T A@X Y=2:39e°Y:Z=67, 6862 (X+2Z) Y QR 62687

Ans

x1.17:15
X2 1714
3 11:6
<411:8

Question Type :
1264330139596
1264330546802
1 264330546799
1264330546801
1264330546800

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status :

MCQ

Not Attempted and
Marked For Review

Chosen Option : --

Q12 95 @16 aei gagRy Rs.750 2iee | 98 §6 gBee 40 9696 caI9elN, 606% 88 9brle Gda aa |

Ans

X 1. Rs. 220
X 2. Rs. 280
« 3 Rs. 300
X 4 Rs. 420

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ

264330139897
264330547967
264330547970
264330547969
264330547968

Not Attempted and
Marked For Review

Q.13 calEa o6l @0 @955 15 km/hr 696166 QIG1 @62 1 98 62169 6261 5 km/hr §4. 6958 G671 9191 62169 BIggRen 80

Ans

km 2Ig] #5915 RIgET 961 Rdd a6 |

<16 hr
X2 3hr
¥ 3 4 hr
X4 5hr

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McCQ

264330140812
264330551598
264330551595
264330551596
264330551597

Not Attempted and
Marked For Review




Q.14 Gsg 43 Rs 6000 €j@ae 2050 15 $96n 2w @589 40f e OB6IE fJRea 150 €596 266 | e gl #19

Ans

6aea"
¢ 1. 10 95419
X2 20 9bde
X 3. 30 gGde
X 4. 25 gGde

Question Type :

Question ID :
Option 11D :
Option 21D :
Option31D:
Option 41D :

Status :

Chosen Option :

McQ

264330140621
264330550834
264330550833
264330550832
264330550831

Not Attempted and
Marked For Review

Q.15 6aiE a°aliI6n 30% §F @olcinl 1e° ZINen §EgIg @eiig 30% 219 @aleinl | §ae @8 &g 29 6aee?

Ans

X 1. 15% g4
X 2. 30% Q&
v3 9% g4
X4 12% @&

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ

264330140826
264330551652
264330551651
264330551653
264330551654

Not Attempted and
Marked For Review

Q.16 L P3Q 990 a1f @5 666 @ieig 4919 @G26m | L 38 P 19910 QIF1 93 IFR 50 96916 6918 a5ee1eses P 6 Q

Ans

<RI0 K191 @3 FIFR 60 P96 698 GOZER | 66 GEF FIER ATIYR QISHTR G497

X1 L

X2 grae QIS dIq 26

X3 p
v Q

Question Type :
Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
264330139017
264330544675
264330544678
264330544676
264330544677
Marked For Review
3




Q17 Geea GaIgingel AQ6HER 6 @E60 GalIcN FRUIRMST PI0a 6 SIRRIE e QLIRS |

ad IR IFR
Y1 90 80
Y2 70 60
Y3 130 110
Y4 110 150
Y6 170 50
Y6 100 90

Fomge 898 fug ewed Of geu?

. Y6 9960 Qaais 9°@Yl, Y6 @960 QI9ariew 2°eMIa 9 96¥io 216e |

1Y 199° Y 2 @d60 Qe YIQISIR 2°6 80 2I5¢ |

Ans = w
X1 1@g) 1l geg
2 699w |
X3 aael | 99° 1|
x4 caea
Question Type : MCQ
Question ID : 264330139646
Option 11D : 264330547002
Option 2 ID : 264330546999
Option 3 ID : 264330547001
Option 4 ID : 264330547000
Status : Marked For Review
Chosen Option : 2
Q.18 coide 19° 6fIe 4 GRen 64l QIF 64I% KOCIRE, 6TIEE6RERE QI I9° €lIFt 12 Gaen AFlIR QIFlg 648 GRCIRE |
COIED, GENIES, QIET99° SIET IRI0 6m6 Ga6R T QIflg 6alE RRER?
Ans 1.3 @9
X2 2@g
X3 4G
X4 5@g
Question Type : MCQ
Question ID : 264330140814
Option 1 1D : 264330551604
Option 2 ID : 264330551603
Option 3 ID : 264330551605
Option 4 ID : 264330551606
Status : Answered
Chosen Option : 2




Q.19

Ans

@ 6elm@e @419 14.7 F159 2166 | 66lnaa BINes 60607

+1.1663.893 m®
< 21783.723m?
<3.1873.487 m°
< 4.1693.563 m®

Question Type:
Question ID :
Option 11D :

Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

McQ
264330138454
264330542426
264330542423
264330542425
264330542424
Marked For Review
4

Q.20 24 G gdieenan SIQISIF 41 266 | 92191 95 QLIETER ISR 42 2166 | 6819 16 & OCISTEEIR LIIEIR 30 26 |

¢ AdIeTAAR fJmY 6987

Ans 1 20
X2 24
X3 14
4 18
Question Type : MCQ
Question ID : 264330140587
Option 1 1D : 264330550699
Option 2 ID : 264330550701
Option 3 1D : 264330550700
Option 4 1D : 264330550702
Status : Answered
Chosen Option: 3
Section : Reasoning Ability and Problem Solving
Q.1 9 A‘crier @ 9o @68, B 'gds’ g 99 @66, C 'Feaidl g 950 969, 19° D '2as @ 950 @51, 6569 aumee
ANFRER 7l 65667
7B5A31C(48D6)=7?
Ans 21 58
<2 38
<3 G2
X4 46
Question Type : MCQ
Question ID : 264330140006
Option 1 1D : 264330548404
Option 2 ID : 264330548405
Option 3 ID : 264330548406
Option 4 ID : 264330548403
Status : Answered
Chosen Option : 4




Q2 Fogp cuf Gog 946 @0 CUGLIER 998 B3 (X) 190 9@ 28 GI6e 9RE6 BF | (Qde a1 agad @IF)

Ans

N%

X)

Al

< 3.

x 4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
264330140110
264330548820
264330548822
264330548819
264330548821
Marked For Review
2




Q.3 97 534 919 @IBIEe, ‘BECOME' § 'HPRFHE' @569 6R109% @2Igiad | 643 6710 aI8Ise 'ACTIVE' dis 6218 @'8?

Ans X 1. HYLWDD
X 2. HYLWFC
X 3. HYLVFD
« 4 HYLWFD
Question Type : MCQ
Question ID : 264330139553
Option 11D : 264330546628
Option 2 ID : 264330546630
Option 3 ID : 264330546629
Option 4 ID : 264330546627
Status : Answered
Chosen Option : 2
Q.4 Goald 95 ae* qaen | ¢ 11 350 af Gad Fa1a198 | IS8 GEIgEl cal 0Ig §ie g6l e6m ¢kl 1F §96 ¢F
964 EFIR FET0Rl BAg 19° gOR G990 goeg 694 iven Bg9e Fadt/gie fda @93 |
og5
58 9P cawat 91gf |
@8 QIgP c2ea’d Fema |
Gas;
| @8 O4E caeas Sena |
Il. 2512 9198 @9l Fena capafics @1F |
Ans Fmg.1 =
X1 6@ @FE | A99Ye cu9T |
— = = = 4
« 2. QFg | @l I A= clgds 6E% @lY |
— = s
X3 Qe @8 | 611 2gYe €298 |
X4 e@ea @dd | 2gYe 629 |
Question Type : MCQ
Question ID : 264330140103
Option 11D : 264330548791
Option 2 ID : 264330548794
Option 3 1D : 264330548793
Option 4 ID : 264330548792
Status : Answered
Chosen Option : 3




5 goa agacea 291 9o (2 )g BRge dwl frIQ 6aed goIde @ae ?

48, 50, 53, 58, 65, 76, 89, 7

Ans X 1. 150
<2 195
« 3 106
X 4. 203
Question Type : MCQ
Question ID : 264330140145
Option 1 ID : 264330548961
Option 2 ID : 264330548962
Option 3 1D : 264330548959
Option 4 1D : 264330548960
. Not Attempted and
Status - Marked For Review
Chosen Option : --
Q.6 gaf 596 9o vaea | 6 1| $Ee gat fad Salad | AIns S41gdl sal 0lp G 9616 caem fkl 18 95 g@g A
67IR Feeeq 903 1e° ger 498 gieg onde aleen 299e Fadt/gde fda 203 |
G9@:
@8 ol cuad oF |
2g @F 62e& Aol |
dad

o
&)
i)
Q
(2]
3]
)
2

Ans

X 1. Qe | @) 1l eREEE 2Ig9e 629713 |
X 2 6a9R 584 | 2996 6298 |
v 3 6aew Gad || 2g9e 6208 |

X 4 9ue 599 1 611 2996 6268 |

Question Type : MCQ
Question ID : 264330140461
Option 1 1D : 264330550226
Option 2 ID : 264330550223
Option 3 ID : 264330550224
Option 4 ID : 264330550225
Status : Answered
Chosen Option : 3




Q7 GoRge aneady 90% 959 UIF fRE6R Y98 679 gok 2°ENIg D999 FRIES BI9R 9O RaTIg U697

192 +12x6+16-18=66

Ans X1.16 3 18
X2 60618
316612
X416066

Question Type :
Question ID :
Option 11D :
Option 21D :
Option31D:
Option 41D :

Status :

Chosen Option :

McQ
264330140448
264330550172
264330550174
264330550173
264330550171
Marked For Review
3

Q.8 4o F8a crieaTIcs, MANAGE' § 520023 QIGEE, ‘NARAT' § ‘52342 GIFE0 46° TENM' ¢ ‘3695 GIF60 SRIgee

R2I9F 1 69F 6RITAINES ‘R 19 6RI¢ R4 6897

Ans 1.4
X213
X35
X4 2

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ

264330140980
264330552269
264330552270
264330552267
264330552268

Not Attempted and
Marked For Review

Q9 Faaege Aggrsn salitkd 0o Godle 218 1 goa G Trip 209 09 oAe @oF dIgl 2geag dgd @de |

GRAM, JUDP, MXGS, ?, SDMY

Ans 1 PAJY
X 2. PAKV
X 3 PBKV
X 4 PAJU

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ

264330139548
264330546609
264330546610
264330546607
264330546608

Not Attempted and
Marked For Review




Q.10 ¢qf Fas Goo eue aa QIR B gos 5860 891 g9 52 (?)g gfads b cdwg 2°gd @8w | (gde a1d agad @1F)

Ans

x 1.

o 2.

x 3.

x4

AN

Question Type :
Question ID :

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

McQ
264330140471
264330550263
264330550264
264330550266
264330550265
Answered

1




Q.11 ¢o@ Geag c0n P0g, CALRIER LUIGEE FRISE 291 I JOR 6U60 LBHIGER FRIER 291 IAF 9T IR 25T |

(9a © PAIgHy cHINE QIR Ja AQUER FAIET FaE gol 4Pl 996R CIdEe FLUS gsIs @aIde | eQIeag
R, @El 13 90160 salicl /FeRIS EIe BIR CIEite Al deion @aIKISaIBe | 13 g Be 199° 3 60§99 @5e 96°
EIT6a 1 96° 3 8062 GIEGR Bal eIee @58 gadial ges )

(4.8.72)
(5.7.105)

Ans w1 (6,8, 144)
X2 (3.6, 36)
X3 (6,9,108)
X 4 (2.5, 40)

Question Type : MCQ
Question ID : 264330140486
Option 1 1D : 264330550325
Option 2 ID : 264330550323
Option 3 ID : 264330550326
Option 4 ID : 264330550324

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q12 g zime g aSo Gola Bma g2 6003 a4F0 cuEed Gola BIR0 Qo a8e 2aRe 5a5g 000 903 |
BAG  ACZBFH  DOG 7

Ans 1. CENPFH
X 2 CENPHF
X3 CNEFHH
X 4 CNEPFH

Question Type : MCQ
Question ID : 264330140074
Option 11D : 264330548677
Option 2 ID : 264330548676
Option 3 1D : 264330548675
Option 4 ID : 264330548678
Status : Marked For Review
Chosen Option : 1




Q13 @ G ediimgel 98 98 déag MN Ol6e agIg, 666% Joa F9a 90w odél gady eae @ |

REPLACE

v3OA193HA

Ans

~~BEbIVYCE
=4 A9 13HA
~~BETIbVCE

Question Type : MCQ
Question ID : 264330140470
Option 11D : 264330550261
Option 2 ID : 264330550262
Option 3 1D : 264330550260
Option 4 1D : 264330550259
Status : Marked For Review
Chosen Option : 2

Q.14 geiel e 986 Fo1a 090 99° Gola 0T 986 99d 0eq AR BF T8¢ Je UEG 49E GREQ SR /9 |
TRATFNW I MNG LJP D FOK:?

Ans 1 PK|
X2 PKJ
X3 PLJ
<4 PLI

Question Type : MCQ
Question ID : 264330140978
Option 11D : 264330552261
Option 2 ID : 264330552260
Option 3 1D : 264330552259
Option 4 1D : 264330552262
Status : Answered
Chosen Option : 1




Q.15 ¢z ga i@al $561, @161, fal, 2161 99° 86198 608 6ugE31 690I5R 10 IF6a 960 21 ¢F @0 ¢258 | Al ofa
262 99° §a1 < €263 9U8F | A181 19° 2181 90990 O K 9d8% | 989, AlsE O 917 2igen 1e° fgls
Qiziel a1gen 9988 | gF gIsp Felasa 849 94887

Ans P
X1 Gl
X2 @Fg|
¢ 3 QIal
X4 Gql
Question Type : MCQ
Question ID : 264330140099
Option 11D : 264330548775
Option 2 ID : 264330548778
Option 31D : 264330548776
Option 4 ID : 264330548777
Status : Answered
Chosen Option : 2
Q16 = .= = =
@elMEe gYen gdue 2garia sl @Uelly 9ag (UG 9UR @0 |
10, -18, 46, —74, -102, ?
Ans 1. 130
X2 150
X3 -140
X4 133
Question Type : MCQ
Question ID : 264330140967
Option 1 1D : 264330552215
Option 2 ID : 264330552218
Option 3 1D : 264330552216
Option 4 ID : 264330552217
Status : Answered
Chosen Option : 3




Q.17 qgn, eife, 9, 67199 99° GARG PE6I §FF AARISE | AR A6 6eeR 5 FAR0IR @9 2166 | YR 999,
QIZAT PESICIQ 2R Al A9 §eF | RARR 296!, SAIER 019 PR F3 2des OlR GF | £760 SAF9 996], JAIR0IR

IR &3 FEae0l a?

Ans o 1. 0
2 2
X3 13
<4
Question Type : MCQ
Question ID : 264330139556
Option 1 ID : 264330546641
Option 2 ID : 264330546642
Option 3 1D : 264330546639
Option 4 ID : 264330546640
Status : Answered
Chosen Option: 2
Q18 ool gy @B Folal el cROR IHEe, 68 2GUCH GUTL IE U486 UWFG Fasg 06 @ag |
529 :577:841:7
Ans X1.902
<2 911
« 3 901
#4899
Question Type : MCQ
Question ID : 264330140465
Option 1 1D : 264330550242
Option 2 ID : 264330550241
Option 3 ID : 264330550240
Option 4 1D : 264330550239
Status : Answered
Chosen Option : 2
Q.19 210 g4 iew Qif, 4716, 9@1R, SIgR, Ols, 2616, 276 98° BEq 1R TRIRI0 e0gR SIRCEE eaga Faale Geg g @3
@Eg8 (AIPae goF afle GsR) | olfie OR 9Ing 9aln @EeE | aigae 191g 098 21560 oI 9883 | clew SIaleg
699 AGea 2Ee @88E | AIFE PI1914g §91A 060 aIF a3 | giiew QIrg FolN BINeR 2En 9883 | gfiow olaldg
T918 Q106 261n §4a8 | ¢Rine SIeidyg §o1 dinen &4 ¢tad?
e v eEa
X2 Qg
<3 gele
X 4 QIER
Question Type : MCQ
Question ID : 264330140060
Option 11D : 264330548619
Option 2 ID : 264330548622
Option 3 1D : 264330548620
Option 4 ID : 264330548621
Status : Answered
Chosen Option : 2




Q20 g GEa eqig aImIcn XIWG' g HXJY' aIeea sasialad] 692 eidisa 'MSOE' ¢ 208 enailie?

Ans X1 FPTT
X 2 FTPN
¢ 3 FPTN
X4 FNTP
Question Type : MCQ
Question ID : 264330140136
Option 1 1D : 264330548926
Option 2 ID : 264330548923
Option 3 1D : 264330548925
Option 4 ID : 264330548924
Status : Answered
Chosen Option : 2
Section : General Awareness
Q1 | , —_ w
AR @9 YRGS €@ G168 YUY 2eTY
Ans 1. QIEFIGR
X2 g8l
X3 Qg
X 4 Qleeal
Question Type : MCQ
Question ID : 264330140352
Option 1 1D : 264330549787
Option 2 ID : 264330549789
Option 31D : 264330549788
Option 4 1D : 264330549790
Status : Answered

Chosen Option :

1




2 caet 6dla gaIRIa 9901 9F 9E 2657

Ans o1 GRUIGYQ

v 2 9edd
x 3. el
X 4 &Qlad
Question Type : MCQ
Question ID : 264330139738
Option 1 ID : 264330547370
Option 2 ID : 264330547368
Option 3 1D : 264330547367
Option 4 1D : 264330547369
Status : Answered
Chosen Option : 2
Q3 ghue (25986 616 1e° 2g95e Gaeld) 28R §R 2022 K169 SIGYER ZISIe egIRmI |
Ans 1. E@oE
< 2 QIEdla
3. Gleglsl
X4 dEe
Question Type : MCQ
Question ID : 264330140726
Option 1 ID : 264330551252
Option 2 ID : 264330551253
Option 3 1D : 264330551254
Option 41D : 264330551251
Status : Answered
Chosen Option : 1
4 = —— — — — —~
Q QEMES NGl ERALIT e (G @ @Y e8la 4 @9Q”
Ans = py
X1 Euae 9yl
X2 290 2edla
v 3 @l fRe
X 4 Qe exlg)l
Question Type : MCQ
Question ID : 264330140929
Option 1 1D : 264330552063
Option 2 ID : 264330552065
Option 3 ID : 264330552066
Option 4 ID : 264330552064
Status : Marked For Review
Chosen Option : 3




¥ Safge rIg 6ePEq Al 99 69IR QEIAN?

| ela @6

. 291210 9%
Ans 1 @@el 1997 (I

X2 13 1 6Red T g |
X3 6aeq ||
X4 caeq |

Question Type : MCQ
Question ID : 264330139876
Option 11D : 264330547885
Option 2 ID : 264330547886
Option 3 1D : 264330547884
Option 4 ID : 264330547883
Status : Answered
Chosen Option : 2

¥ ag geeIa ot 62192l |

M0 Igel yde @ a9ERI e

X 2 QR Q QIR
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Question Type : MCQ
Question ID : 264330140351
Option 11D : 264330549784
Option 2 ID : 264330549783
Option 3 ID : 264330549786
Option 4 ID : 264330549785
Status : Answered
Chosen Option : 2




Q7 gag @ oleq 989e (Tensile or compressive stress) @ €QIe 1 RITIRCIER: |

A — .
"X 29998 9@ew (shearing stress)
X 2. Ql@eglag 9696 (hydraulic stress)
X3 gdalel 9oew (tangential stress)
v 4 2I9e5dY g89@ (longitudinal stress)
Question Type : MCQ
Question ID : 264330140322
Option 1 ID : 264330549667
Option 2 ID : 264330549670
Option 3 ID : 264330549669
Option 4 ID : 264330549668
Status : Marked For Review
Chosen Option : 3
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Ans X 1. g@om
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4 ZEECIE
Question Type : MCQ
Question ID : 264330140728
Option 11D : 264330551260
Option 2 ID : 264330551259
Option 3 ID : 264330551262
Option 4 ID : 264330551261
Status : Answered
Chosen Option: 1
0 @& IR Hg I rEIRB AR LR 2@l |
Ans X 1. 2ol ol
X 2. QQ GlEl
o 3. <ll@Y Glél
< 4 IEIm Glél
Question Type : MCQ
Question ID : 264330140902
Option 1 ID : 264330551957
Option 2 ID : 264330551955
Option 3 ID : 264330551956
Option 4 ID : 264330551958
Status : Marked For Review

Chosen Option :

2




Q.10
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Question Type : MCQ
Question ID : 264330140273
Option 1 ID : 264330549473
Option 2 ID : 264330549471
Option 3 ID : 264330549474
Option 4 ID : 264330549472
Status : Answered
Chosen Option : 2
11 PR _ = w e
Q ELE YD <l (1Em QMG 699 SlYatlaw Tkl @Yle 6TlwEml?
s v deiigl @Geq @
X 2. QI8 @F
X3 ggl A8 9eig e
X4 Qlgl f1e E° — gaiel
Question Type : MCQ
Question ID : 264330140935
Option 11D : 264330552088
Option 2 1D : 264330552090
Option 31D : 264330552087
Option 41D : 264330552089
Status : Answered
Chosen Option : 3
12 20eua "AINT AT AR &9 SRgISR?
A X1 QIR eeledad
v 2 Qe qleTm
X3 QleRin &9
< 4 CRIFIEIe IR 6Ll
Question Type : MCQ
Question ID : 264330140668
Option 11D : 264330551022
Option 21D : 264330551019
Option 31D : 264330551020
Option 41D : 264330551021
Status : Answered
Chosen Option : 4




Q13 g0 @BoIeR U@ eifim 99 'Feaeq’ (Muvendar) 6R¢ 2If QI9I9 2

Ans =ty
¢ 1. Gawdl ¢S
X2 G6RIG @
X 3. G6qIg @9
X4 56QIE ealle)
Question Type : MCQ
Question ID : 264330140288
Option 11D : 264330549532
Option 2 ID : 264330549534
Option 3 ID : 264330549531
Option 4 ID : 264330549533
Status : Answered
Chosen Option: 2
Q.14 @RERID 0IST FF FIDILE] EI@G‘QIQIE%‘ ol 69 delle 6@9 fdwen @]%G eLlRmI?
Ans  X'1.1802
« 2. 1887
<3 1876
< 41863
Question Type : MCQ
Question ID : 264330140358
Option 1 ID : 264330549814
Option 2 ID : 264330549813
Option 3 ID : 264330549812
Option 41D : 264330549811
Status : Marked For Review
Chosen Option : 2
Q.15 w , ,
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Ans X 1. &3 x
C LY
X 2. 69Yem
< 3. QIELCem
4 Quedas

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
264330140364
264330549838
264330549837
264330549836
264330549835
Answered

2




Q.16

Ans

X 2. eglexlddal (Chlorophyceas)
X 3. glaediddel (Chrysophyceae)
X 4. gale@IgR@del (Rhodophyceae)

¢ 1. FIQBTdel (Phasophyceae)

6a9 64d1a 639Ie gor IS SITiel 639Ie (brown algae) RIPER REIIgEI?

Question Type :
: 264330140732
: 264330551276
: 264330551275
: 264330551277
Option 41D :

Question ID
Option 1 ID
Option 2 ID
Option 3 ID

Status

McQ

264330551278

: Answered
Chosen Option :

3

Q17 qiganat 2022 69, 19 ediFIGiele
Ans X 1. Gees (DRDO)
v 2. @@sql (ISRO)
X 3 Zlgeela (RBI)
X 4 64% (SEBI)

2 @8¢1 218 (Chairman) Wl6s GgE @RS |

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
264330139681
264330547140
264330547141
264330547139
264330547142
Answered

2

Q.18 @igena shAuiea 2geea 50 GEI00 BIcaicsn GRlanee Bleaa 2uas, Fodd 1o Gaad el giIeuie oFF |

Ans X 1. 336
X 2.330
X3 338
¥ 4 324

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
264330140278
264330549493
264330549492
264330549494
264330549491
Answered

2




219 2011 @ac€ql 2Agaiel, Jod AFGI LR 6R6S7?

Ans X1 75.14%
X 2.71.14%
3. 82.14%
X 4 6514%

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
264330140303
264330549592
264330549593
264330549591
264330549594
Marked For Review
2

Q.20 &g Gaa 2seen FERCFISE saer 0F0dsl elEsn feaas 2R @028 | 1E gaIn o1

Ans o1 Qg CIRR

WIPER Fallgdl 2t |

X 2. 99 L9lve
X< 3 ¢lge 9ld
¢ 4 9@ old
Question Type : MCQ
Question ID : 264330139743
Option 11D : 264330547387
Option 2 ID : 264330547390
Option 3 1D : 264330547388
Option 4 ID : 264330547389
Status : Answered
Chosen Option : 1
.21 1 ) f - —
021 Fenend caaid (Fearless Governance)' dld@ g2@0 emeia@ @17
Ans > 1. 2IgG &9
X2 gGe® g
X3 PEGIR 6dIg
4 @08 694G
Question Type : MCQ
Question ID : 264330138976
Option 11D : 264330544512
Option 2 ID : 264330544514
Option 31D : 264330544511
Option 4 1D : 264330544513
Status : Answered
Chosen Option : 2




2 qien eaIee 9061w TI0I 90RG “BIdY d9IE” Q DEEN @'l Sml?

Ans X1 Qe 89 QIEisYe 91 90%
X 2. QG910 4196 Uadl @59
v 3 89 Uden @Pale 2IEe)
X 4 GEECIoE SQEEn FE9IT @R
Question Type : MCQ
Question ID : 264330138969
Option 11D : 264330544483
Option 2 ID : 264330544484
Option 31D : 264330544485
Option 4 ID : 264330544486
Status : Not Attempted and
" Marked For Review
Chosen Option : --
Q.23

Ans

g6 gl 99, 09I
X 1. oy

v 2. ey

X 3. g9l

x4 Qg

@ 95 02dige |

Question Type :
: 264330140345
1 264330549761
: 264330549762
: 264330549759
: 264330549760

Status :
Chosen Option :

Question ID
Option 1 ID
Option 2 ID
Option 31D
Option 4 ID

McQ

Answered
2




Q.24 g6 gFeice 9ot fgeae cam 0219 §g6 g21E 1e° 6oIT 215U CRIGR 63IF' SHIE §41 60 GHSAR SR, 1!

Chosen Option :

QUTER FEIGSI |
Ans 1. 299@19e8 (Emulsification)
X 2. Jaeieed (Separation)
X 3. @llerimlasada(Caramelisation)
X 4. <Rged (Filtration)
Question Type : MCQ
Question ID : 264330140733
Option 1 ID : 264330551279
Option 2 ID : 264330551282
Option 3 ID : 264330551281
Option 4 ID : 264330551280
Status : Answered
Chosen Option: 3
.25 —_ " 1 =
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Ans = =
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Question Type : MCQ
Question ID : 264330139745
Option 11D : 264330547396
Option 2 1D : 264330547398
Option 31D : 264330547395
Option 4 1D : 264330547397
Status : Marked For Review

2

Section : English Language and Comprehension




Q.1 Select the most appropriate option to substitute the bracketed segment in the given sentence. If there is no need to

substitute it, select ‘no substitution required’.
(There's many a good tunes) played on an old violin.

Ans X 1. There are many a good tunes

X 2. No substitution required
X 3. There's many good tune

« 4. There are many good tunes

Question Type : MCQ
Question ID : 264330135824
Option 11D : 264330532169
Option 2 ID : 264330532170
Option 31D : 264330532167
Option 4 ID : 264330532168
Status : Marked For Review
Chosen Option : 3
Q.2 Asentence has been given with a blank to be filled with an appropriate option. Choose the correct alternative.
Your presence both my brother and sister.
Ans X 1. affecting
X 2. effects
« 3. affects
X 4 effect
Question Type : MCQ
Question ID : 264330135158
Option 11D : 264330529569
Option 2 ID : 264330529567
Option 31D : 264330529568
Option 4 ID : 264330529570
Status : Answered
Chosen Option : 4
Q.3 Fill in the blank with the most appropriate option.
Sulochana, whose I had so admired during the festival, seemed a different person.
Ans X 1. shadow
" 2. grace
X 3. crudeness
X 4. polish
Question Type : MCQ
Question ID : 264330136568
Option 11D : 264330535010
Option 2 ID : 264330535009
Option 3 1D : 264330535008
Option 4 ID : 264330535007
Status : Answered
Chosen Option: 2




Q4 Choose the incorrectly spelt word.

Ans X 1. Blame
«< 2. Grave
X 3. Leaf
« 4. Staringg
Question Type : MCQ
Question ID : 264330141188
Option 11D : 264330553092
Option 2 ID : 264330553094
Option 3 ID : 264330553091
Option 4 ID : 264330553093
Status : Answered
Chosen Option : 2
Q.5 Identify the segment that contains a grammatical error. If there is no error, select 'No error’.
Fred and George had / bewitched there trunks to fly downstairs to / save the bother of carrying them.
Ans 1. No error
X 2. Fred and George had
+ 3. bewitched there trunks to fly downstairs to
X 4. save the bother of carrying them.
Question Type : MCQ
Question ID : 264330136135
Option 1 ID : 264330533346
Option 2 ID : 264330533343
Option 3 ID : 264330533344
Option 4 ID : 264330533345
Status : Answered
Chosen Option : 2
Q.6 Identify the segment that contains a grammatical error. If there is no error, select No error'.
Although people had been on watch and / the watchkeepers were very, very tired, / everyone were up and buzzing.
Ans 1. No Error
« 2. everyone were up and buzzing.
X 3. Although people had been on watch and
X 4. the watchkeepers were very, very tired,
Question Type : MCQ
Question ID : 264330135821
Option 11D : 264330532158
Option 2 ID : 264330532157
Option 3 ID : 264330532155
Option 4 ID : 264330532156
Status : Answered
Chosen Option : 2




Q.7 Identify the segment that contains a grammatical error. If there is no error, select 'No error'

Ans

Your body will respond by/ getting more muscular and/ strong before you know it.

X 1. No error
X 2. getting more muscular and
« 3. strong before you know it.

X 4. Your body will respond by

Question Type : MCQ
Question ID : 264330135664
Option 1 ID : 264330531554
Option 2 ID : 264330531552
Option 3 ID : 264330531553
Option 4 ID : 264330531551
Status : Answered
Chosen Option : 1
@8  Choose the word that can substitute the given group of words.
A container for housing honeybees
Ans X 1. Colonies
+ 2. Hive
< 3. Pack
# 4. Shoal
Question Type : MCQ
Question ID : 264330141186
Option 1 1D : 264330553085
Option 2 ID : 264330553086
Option 3 1D : 264330553083
Option 4 1D : 264330553084
Status : Answered
Chosen Option : 2
Q.9 Four sentences are given, out of which three have spelling errors. Choose the sentence with all correctly spelt words.
Ans % 1. There is no comparision between the two books.
« 2. I got selected in D category.
< 3. She handlled the situation cooly.
X 4. What was the begining of the dispute?
Question Type : MCQ
Question ID : 264330136433
Option 1 1D : 264330534493
Option 2 ID : 264330534492
Option 3 1D : 264330534491
Option 4 ID : 264330534494
Status : Marked For Review

Chosen Option : 2




Q10 Fill in the blank with the most appropriate option.
"Well, that was good,' said Harper.
o« 1. pretty

< 2. beautiful
X 3. gorgeous

Ans

X 4. pleasing

Question Type : MCQ
Question ID : 264330136133
Option 1 1D : 264330533336
Option 2 ID : 264330533335
Option 3 1D : 264330533338
Option 4 1D : 264330533337
Status : Marked For Review
Chosen Option : 2

Q.11 Select the most appropriate antonym to substitute the bracketed word in the given sentence.

Similarly Sirius, the most (luminous) star in all the heavens, actually has a faint companion.

Ans X 1. excited
< 2. serious
« 3. gloomy

< 4. miserable

Question Type : MCQ
Question ID : 264330136554
Option 1 1D : 264330534951
Option 2 ID : 264330534953
Option 3 1D : 264330534954
Option 4 1D : 264330534952
Status : Marked For Review
Chosen Option : 2




Q12 gelect the appropriate synonym for the underlined word.

You look around and you see green, happy plants.

Ans (1. nascent

X 2. mourning

« 3. blissful
X 4. gloomy
Question Type : MCQ
Question ID : 264330141196
Option 11D : 264330553119
Option 2 ID : 264330553121
Option 3 ID : 264330553122
Option 4 ID : 264330553120
Status : Answered
Chosen Option : 2
Q.13 Select the most appropriate word for the given group of words.
Information. especially of a biased or misleading nature, used to promote a political cause or point of view
Ans 1 Propaganda
< 2. Orchard
< 3. Potable
X< 4 Welter
Question Type : MCQ
Question ID : 264330136758
Option 1 ID : 264330535735
Option 2 ID : 264330535738
Option 3 ID : 264330535737
Option 4 ID : 264330535736
Status : Answered
Chosen Option : 2
Q.14 The statement below has been given with bracketed text. Select the option with correct Idiom for the bracketed text.
He (made an irreversible change, that will greatly impact his life) when he got that huge tattoo on his back!
Ans X 1. beat the dead horse
+ 2. crossed the Rubicon
X 3. put a rose on his nose
X 4. became the devil's advocate
Question Type : MCQ
Question ID : 264330135762
Option 11D : 264330531927
Option 2 ID : 264330531928
Option 31D : 264330531930
Option 4 ID : 264330531929
Status : Answered
Chosen Option : 4




Q.15 Inthe following question, out of the given four alternatives, select the alternative which best expresses the meaning of

the Idiom/Phrase.
Fairly and squarely

Ans % 1. Suddenly
X 2. Rigorously
+ 3. Honestly
X 4. Wholly

Question Type:
Question ID :
Option 11D :

Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

McQ
264330135555
264330531121
264330531122
264330531119
264330531120
Marked For Review
1

Q16 Select the appropriate synonym for the underlined word.

Don’t sound so excited

Ans X 1. casual
X 2. tired
« 3. eager

X 4. composed

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

McQ
264330135525
264330531005
264330531003
264330531004
264330531006
Answered

2




Q.17 Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence

meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

He lost his temper (by a driver) flashed her headlights as he overtook.

Ans X 1. No correction required

< 2. afterwards a driver
« 3. after a driver

X 4. considering a driver

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
264330136564
264330534994
264330534991
264330534992
264330534993
Answered

1

Q18 gelect the most appropriate antonym of the given word.

Crude

Ans A ije
X 2. Stubble
X 3. Beastly
X 4. Intense

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
264330136205
264330533613
264330533612
264330533614
264330533611
Marked For Review
3




Q.19 @Lmprove the underlined part of the sentence. Choose ‘No improvement” as an answer if the sentence is grammatically
correct,

Even in time of natural disasters, the farmers had to pay their share of taxes.
Ans X 1. timer of natural
+ 2. times of natural

X 3. times of naturally

X 4. No improvement

Question Type :
Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
264330141182
264330553068
264330553067
264330553069
264330553070
Answered

2

Q20 gelect the most appropriate option to fill in the blank.

She has a large, sympathy and absolute fairness of temper.
Ans X1 thrifty

« 2. generous

X 3. mean

X 4. sparing

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
264330135560
264330531141
264330531140
264330531139
264330531142
Answered

2




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

He(l) his eyes. Moonlight was shining (2) the bars on the window. And (3) was goggling
through the (4) at him: a freckle-faced, red-haired, long-nosed someone. Ron Weasley was outside Harry’s (5)

SubQuestion No : 21

Q21 Select the most appropriate option to fill in the blank No. 1.

Ans X 1. close
X 2. open
« 3. opened

X 4. expanded

Question Type : MCQ
Question ID : 264330135698
Option 11D : 264330531681
Option 2 ID : 264330531680
Option 31D : 264330531679
Option 4 1D : 264330531682
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

He(l) his eyes. Moonlight was shining (2) the bars on the window. And (3) was goggling
through the (4) at him: a freckle-faced, red-haired, long-nosed someone. Ron Weasley was outside Harry’s (5)

SubQuestion No : 22

Q22 Select the most appropriate option to fill in the blank No. 2.
Ans X 1. complete
X 2. though
X3 in

« 4. through

Question Type : MCQ
Question ID : 264330135699
Option 11D : 264330531685
Option 2 ID : 264330531683
Option 3 1D : 264330531686
Option 4 ID : 264330531684
Status : Answered
Chosen Option: 1




Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

He(l) his eyes. Moonlight was shining (2) the bars on the window. And (3) was goggling
through the (4) at him: a freckle-faced, red-haired, long-nosed someone. Ron Weasley was outside Harry’s (5)
SubQuestion No : 23

Q23 Select the most appropriate option to fill in the blank No. 3.

X 1. somewhere
2. someone

X 3. sometimes

< 4. somewhat

Question Type : MCQ
Question ID : 264330135700
Option 1 ID : 264330531689
Option 2 ID : 264330531687
Option 3 1D : 264330531690
Option 4 ID : 264330531688
Status : Marked For Review
Chosen Option : 2

Q.24

Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

He (1)

his eyes. Moonlight was shining (2) the bars on the window. And (3) was goggling
through the (4) at him: a freckle-faced, red-haired, long-nosed someone. Ron Weasley was outside Harry’s (5)

SubQuestion No : 24

Select the most appropriate option to fill in the blank No. 4.
X 1. grills

< 2. horizontals

/3. verticals

+ 4 bars

Question Type : MCQ
Question ID : 264330135701
Option 11D : 264330531691
Option 2 ID : 264330531694
Option 3 1D : 264330531693
Option 4 1D : 264330531692
Status : Answered
Chosen Option: 3




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

He(l) his eyes. Moonlight was shining (2) the bars on the window. And (3) was goggling
through the (4) at him: a freckle-faced, red-haired, long-nosed someone. Ron Weasley was outside Harry’s (5)

SubQuestion No : 25
Q25 Select the most appropriate option to fill in the blank No. 5.
Ans X 1. toilet
+ 2. window
X 3. suitcase

X 4. cupboard

Question Type : MCQ
Question ID : 264330135702
Option 11D : 264330531698
Option 2 ID : 264330531695
Option 3 1D : 264330531696
Option 4 ID : 264330531697
Status : Answered
Chosen Option : 2




